Seat No. Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C300003 Date: 30-12 - 2016
Subject Name: ENVIRONMENT CONSERVATION & HAZARD MANAGEMENT
Time: 02:30 PM TO 04:00 PM Total Marks: 70
Instructions:

No.

AT b

Attempt all questions.

Make suitable assumption wherever necessary,

Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible, (Scientific/Higher Version not allowed)

English version is authentic.

Question Text and Option. Y& ol [Ascul.
Which of the following is not the scope of Environment?

A. Hydrosphere B.  Biosphere

C. Lithosphere D.  Satellite sphere
o{lAetimiell sall cllscu valarelsl 2slu ol 2

A are{laR0L B. o0 a0l

C. yelerul D Qzeuse warel
The upper most portion of the atmosphere is known as ------------ .
A.  Mesosphere B. Thermosphere

C. Troposphere D.  Stratosphere
cllelletReMl %c Wl Gurell wLaRetsl ---------- 58 8.
A DoldlaR B.  aulrfla

C lulkgla D.  Rakdla

The proportion of Ozone is naturally maintained in ------------------- .
A.  Troposphere B.  Thermosphere

C. Mesosphere D.  Stratosphere
Aulls dd Alete] YHIG -----m-mmmm-- UL wacls @ B,
A alalla B.  aalagle

C. Axlflaz D Ralflar
Which of the following is not the aerosol?

A. Radiation B. Mist

C. Dust D. Fog

o{ldstl flsclluiell BlAden sl otell?

A A B. Qe

C. yaoll 22 Do yuy

Which is the primary component in Food chain and Food web which makes food after
getting solar energy

A.  Animals B. Bacteria

C. Vegetation D. Birds

5ot el gsAotHl Yeoll Al Anclal 28R vlollag YUH ues 53 B2
A yella B.  asBau

C Rswet D wefll
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10.

10.

11.

9.

Due to which main reason deforestation occurs ?
A. Global Warming B. CFC gases
C. Reduction in Global warming D. Human Rehabilitation

Yuled sal SREIAUR dot [Asugllswl alal B2

A olaet diHlo B. ol As. Al llu

C. 2alet ctRHl waLs D.  yaaauae

If e DB of noise is falling on our ear drums repeatedly, the hearing power
reduces.

A 15 B. 80

C. 110 D. 150

UYL Slol UR --------- SLofl. ol paey arzalrk usdl slat ol auue(l
sl He us .

A qu B ¢o

C. qqo0 D quo

In which category of bio-tic component, Animals and human being is falling ?
A. Producers B. Consumers

C. Decomposer D.  Transformer

gl uel Hoft sl Ysiell HAs uasl &2

A Gewesl B dorpual

C $lsuxe D olugllz

For Sustainable Development which is only taking into consideration for social and
economical needs is known as -—------------- .

A. Bearable needs B.  Viable needs

C. Equitable needs D. Economic needs

AR daeude HE2 B Hiot WHURS wal (s wRadlel deadl d 8

A Jdad o{lsu B.  qaud ollsu
C. sBadud o{lsu sdala B. D auyfls ozRatd
Those natural resources which are yet not developed but there are chances of

development are known as --------===-===-=----mm—moeooooooooo .

A. Developing resources B.  Stock resources
C. Potential Resources D. None of the above

% Yiglds Aol 6% AsRd o slat uel [@Astell Yyl asedl sla deu
dAttollol --mmmmmmme s&cl .

A (AR sl B 2ls RGARR

C Q¥llac R, D. @ur e di ol 818 wel o8l
Which option of the following is not a part of non living resources

A. Mines B. Metal

C. Forest life D. Glasiars

o{lAsll c{lscul Ul sell uUx(As Aauttell ol UsR ol ?

A yel B. g2l

C. goamgdet D, BuBlard
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12.

2.

13.

3.

14.

Y.

15.

.

16.

16.

17.

19.

18.

When natural resources belongs to a village or a group of person, it is known as---------
natural resources.

A. Individual B. Social

C. National D. International

Uslds Aol R 518 As ouH ¥ et slat UR dol —------- uglds

dauell sdaua B.

A cfsaold B, aueys

C. adla D uidedla

The ocean which is away by more than --------- km from the boundary of the nation is

known as international natural resources.

A 3 B. 6

C. 9 D. 12

¥ HSIRAUR slvugl & asll Bouell --------- Belllle:ell ay g2 &l da

yislads Aol Aidgla yislds Al sdai 8.

A 3 B. ¢

C. e D. 1 e

In India there are total ---------—-- types of forests.

A 2 B. 4

C. 6 D. 8

GURAML §A ----mmmmmmm- Yslell olcll uddl 8.

A B.

C. s D. C

Trees like --- are seen in dry tropical forest areas

A.  Sal, Mango, Bamboo B. Coffee, Tea, Banana

C. Olive, Rhododendrum D.  Oak, Pine, Maple

yst gdlset sl lRAlRML —-------m-m oo Bell gall wlal Ha 8.

A e, e, aid B.  sldl, u, 3

C. 0l 28181351 D als, wset, Aua

Which type of energy resource a tidal energy is?

A. Biomass B. Fissile

C. Wind D. Renewable

eRcllororl Gad A 52U ysiell Gl wld & 2

A gl B.  yalorerl

C yaet D yetynay

If we use continuous casting process we save the energy in the field of -------------- .

A, Steel Industry B.  Vehicle Transportation

C. Boiler D.  Home related field

sodlot 5RE1L ylsauell Guallal sralell ----------- a3 A dua w8,

A Hld Geallot B. gt uRdset

C. ollse? D. waoiey

Which of the following option is not true for efficient use of fuel in vehicles.

A.  Avoid fuel leakage B.  Stop the engine for stoppage of more

than two minutes.

C.  Check regularly the waste hit D. Maintain the proper air pressure in

recovery systems tyres.
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1c.

19.

c¢.

20.

R0.

21.

1.

22,

2.

23.

3.

24,

cllsollHl BuRLell stelatd Grualol sral W2 oA Ul sal [@seuw adl «ell
A wud 3 westag sleal. B d lollesll ay Astel Wz WAoot

ol §2d,

C. Aze éle Rsadl Rrenls] D. 2ol scllo] 04l 6lRAGR A

sl Qafd dawal
During day time wind flows from
A. Seatoland B. From land to sea
C. Seatosea D. From land to land
Rat eaot sclloll Yol --m-mnmmmmmmmmmmm e ad B.
A e drsll w{let s B onflot cdrgell uys dRs
C. e drsll uys dRs D. onflot dzgell wHlel ds
The studies of wind direction and wind speed is carried out by ------------- .
A. Meteorological Station B. College
C. Airforce D. None of the above
Ycello{l (Bau ol ollell ey —----mmmmmmmm Gl2L SclHl wWad 8,
Ao Quaua B.  gnaw
C. A D Gy uigll 818 e <8l

Which of the information from following is not collected to know the

characteristics of wind ?

A. Average wind speed /second B.  Average wind speed /hour
C. Average monthly wind speed D.  Average yearly wind speed

Yelolo{l cllal@lscizdl ot Hi2 oflAettmiell 58 HSldl A58l scuHl el
o8l 7
A yoetell W22 oA YA Ass B udste(l ud2w2 ol ul@ seus

C. Yaotell iRs ud2a o D. ool cufs w2ua ol
Which of the following is not collected to know the wind potential.

A.  Wind map B. Wind table

C. Wind map & wind table D. Contour Map

Uctot Galo] WlEellna amglen 12 sal [Ascusll Gualal seuMl uiadl otell?
A [ds Ay B.  [(ds 2ua

C [As Au ua [Es 2ua D. gg2 Ay

In which place of horizontal axis wind turbine, a generator is placed?

A. Intower B. nacelle

C. On ground level D.  Gear Box

el3lolect Aellu [Qos 2oldoti wotR2? SUl Ysaul wUd & 2

A 2leR WR B. qaau

C. s Aad wR D oflar cdaui

The wind turbine which runs due to wind from direction is known as upwind
type wind turbine.

A.  Opposite B. Backside

C. Top D. below
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2Y¥.

25.

U,

26.

?S.

27.

9.

28.

RC.

29.

RC.

% [ds zoddel ---—--——-- ALl Ucolloll Yyeusll atetdl slal del aulds
2l [ds 2olidel sdcllHl 214 B,

Ayl B.  yonal

C. guadl D. o2l

Wind turbines having rotar diameter of 16 to 50 m is known as -------- wind turbine
plants.

A. Small Size B. Mediaum size

C. Bigsize D. None of the above

% [ds 2uleetoll Aeell staule? 15 4l uo {l slaw & Aol ----—--- (cls
2ollgel welie séallul u1d B,

A sofl s Mell B. e s el

C Q8 wsxel D @Que wal Sl uel o8l

The wind mill having rotar shape of egg bitter is known as

A. Darrieus B. savonious

C. Darrieus savonious D.  Noae of the above

% UclolUsHloll A2Rell eASsell 2SR AL oflz? ¥l sl & Aol --——--- 53 8.
A 3dlay B adle{lay

C 3an Adlaxn D Guz uigll 818 ual o8l

Following is the characteristic of vertical wind mill
A.  Direction of rotar is required to B.  Yaw control system is required.
be changed as per wind

direction.
C. Liftis produced. D. Direction of rotor is not required to be
changed as per wind direction.
adlset [ds el wlRlad ------------ 8

A yaotell €law yd Aezell B alld sopld Aledo(l %32 wd B.
€lall 32acl ud 8.
C. lse Ael D. yaetell €lan yaud Azl €lau
gacll usdl atell.

For production of constant frequency A. C. Power, stored D.C. power in battery is
converted to A.C. Power by using )
A.  Invertor B. Battery

C.  Generator D.  semi Conductor

AN Flsclellell WA Wer Geur sl {2 dedlul Aote st SLl. waral
---------- oll Guallol 53l WAl WML puUlcdR sclMl wd 8,

A Bl B.  @edl
C. o222 D §s5e2
--- increases with increase in number of rotar blades.
A. Efficiency to produce power B. Balancing of rotar
C. Solidity ratio D. Wind speed
AeR ods ofl dvau auaell ------------- ofl 8.
A yloR Geudd sRclell atddl B ere Adlol
C A4 2l D yoete{l atdl
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The arrangement for changing angle of blade in wind mill is known as ---------—----- .

A, Yaw B.  Screw

C. Motor D. Pitch

Yclol U HL 0ASell Aol yaeloll calaal o ---—---- 58 B,
A Qa B. a5y

C. er D. Ru

What is the use of wind vane ?

A.  Measures strength of wind B. Measures wind speed
C. Measures temperature of wind.  D.  Measures wind direction

(s Qotoll GualloL g & ?
A ydote{l alsa wA D, B.  ydate{l ol 1A 8.

C. Ydole] GulcltHiot W B, D. yaelell €law wcld 8.

Which type of electrical generation system is necessary to supply generated power in
grid

A.  Variable speed constant B.  Constant speed constant frequency
frequency

C. Constant speed variable D.  Variable speed variable frequency.
frequency

(cls eolesel gLl Geud UAC UlaRel oflsHi Aellal sl HIZ sl ustell
BAGL5H ol eot RlreH 33 B

A Qi Awa wdls sl B.  glee alls skee glsclll
glsclol

C. shée alls AdAud Slsacll P adldlud adls AddAud Slsasdl

The wave length of visible rays is ------------ micro meter.

A, 038t00.78 B. 038004

C. More than (.78 D. Lessthan 0.38

g 9Mlol (3Qlotl AMgoll d2olEols -------- sl Hlee B.

A 0.3¢ dl 0.9¢ B. 0.3c¢c dlos

C. o0.0¢ dl ay D. 0.3¢ ol susll

Sun rays coming from sun & reaches earth. During this time effect of ---------- is not

observed.

A. Absorption B. Reflection

C. Green House D. Refraction

yaduidl ollsden Bel yee w2 wsld d gt dell u —------- ysiRe(l

UAR Ul a2l

A allwg B wrtadst

C. oflet 816U D. afletaet

Which of the following is not the principle of measuring solar radiation.

A.  Principle of photosynthesis B.  Principle of thermo couple

C. Principle of solar concentration ~ D.  Principle of photovoltaic

(D ETRITE) ([EE— AR WA At Hiuellell Reaid ol

Ao ygial sAalet ol Reuid B.  aailsuct ol Restic

C AR supaet oll Retlid. D Al ss ol Reulidd
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36.

36.

37.

39.

38.

3¢.

39.

3¢.

40.

¥O0.

41.

¥a.

42.

Diffused & Total radiation can be measured by ------------ instrument.

A.  Sun Shine Recorder B.  Silicon Solar cell

C. Pyrheliometer D. Pyranometer

By ual 2lecd AsAAot --------------- Aot gl 1l asia 8.

A Uot Wt 288 B.  R@s AR Ac

C. yad@ale: Do wadellle?

Which is not a semi conductor?

A. Germanium B. Copper

C. Tin Oxide D. Silicon

Al 55522 ueld sal otall 2

A ogillun B slu?

C. Rot 2ilsu8s D. R@slt

Which of the following is not the classification of solar thermal collector?

A. According to current voltage B.  According to fluid used in collector.

C.  According to the method of D.  According to glass cover used in
collecting solar radiation. collector.

ol Ul 53 collswl e wdd sdses] aolls:w atell 2

Ao g3z dledy Yyl B.  gAseul duRAdl sc85oll B

C Aetr 2WAget Asat scllell P sAS2HL cAURAAL 3™ 5 YHI
Al yHdl

In which solar power instrument the mirror is used?

A. Liquid flat plate collector B.  Solar Cooker

C.  Air heater D.  Solar Photo-voltaic water pumping

sl AR WeR AltotHl AU Ysal ud 8 2

A yadl sdz Wz sAse? B e gs?

C. A2 dlez D, Qaz: sld@ss dle: udlal

What is the function of glass used in solar cooker & solar heater?

A.  Sun rays can pass through. B.  The things which are kept inside

becomes visible

C. Keeps safe from external D.  Prevents the external pollution

atmosphere.

AR §52 el AR FleMl cduRdl wWReds slusj st g B2
A ydetl (el urr as a3 B, B aler el axqgull w18 asia B.
C. walRell alcteRgiell dctidd D wsletl ygned wesid 8.

AU 8.

The circulation water in solar water heater is done by

A.  Using small pumps B.  Using big pumps
C. naturally. D.  Using siphon
AR dleR el welles] usgdatot --------- Ad w8,
A ofloll YU oll Guallol sdla B el iy ol Gurlol sdla
C. gexcdl da D.  alaset ol Gualloal sdla

In unit time of period if the solar energy is falling at one place on the unit area then
the solar energy is known as
A. Beam Radiation B.  Diffused radiation
C. Total Radiation D. Direct Radiation
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¥.

43.

¥3.

44.

¥Y¥.

45.

¥U.

46.

¥5.

47.

¥

48.

S8 s AUN AsH AHAML Aol AsH Adsn UR Uscl ylabaa ----- 5& 9.
Aol R8lAast B.  [3gryn 2SlAatet

C Aea 263t D siadse 24 Qs

What is the name of the instrument which is giving information about the time of
cloudy area in the sky during day time.

A.  Sun shine recorder B.  Solar meter

C. Seismometer D. Pyrenometer

[Bad uH e 2ol e dldlaBl J2el UHA HE2 6q d HEldl
UlUcll Ulotol g 55l B?

A Yot weetl 28182 B.  Adaz Hle?

Co flalle: D wada{le?

What is the name of the strip which is prepared by joining two different types of
metallic strips.

A.  Thermo-couple B. Collector

C.  Absorber plate D.  Flat plate

ol clefle ysizell wiqula sslsel sleudell flua 9 58 & 2

A alsua B.  s@se?

C Audd: WAe D.  s@z e

Which of the following is not the limitation of solar water heater.

A. Fabrication is difficult. B.  Required to release the pressure at high
temperature.

C. More heat transfer area is D. Required to provide collector which

required. can bear high temperature

ol A lscll WSl sall cllscu AR dleR 8lez ol Halel ealad aell?

A Foflhalete] stH uUR B. B.  Gul ctwstsl Geud ad ol g2
524 U 8.

C dle gius? Qaclr au D 2l3ell G GrlcllHlol Uest 531

Aual ud B, % cdq sdse? Awq ud 8.

The dimensions of outer box in solar cooker is ---- X ----- X —-—--- cm.

A, 80X 80X20 B. 60X60X20

C. 80X80X30 D. 60X60X30

AR gsul Wl wslRell Wleg L ---- X ----- X =----- Al elu 8.

A €O X €O X R0 B. gsox sox 20

C. ¢oxcox3o D. ¢o0x s0 x30

Biomass is the ------------- type of stored energy.

A. Electrical B.  Mechanical

C. Solar D. Light

ATC LITETRREEE—— ysie{l Aol G 8.

A cflegydd B.  aiols

C Qd D ysialla

Which of the following is not the type of solid biomass?

A, Wood B. Methane

C. OQil giving plants D.  Garbage from kitchen

8/12



¥C.

49.

¥C.

50.

Yo.

51.

uq.

52.

.

53.

u3.

54.

uy.

35.

o{lActliitel sall ot AUl clL2lMIA otel?

A s B. {3t

C. ddla asaudl D 2dlstell Ao aus

Which of the following is not the characteristic of biomass?

A, Ttis Unlimited & Renewable B. 1Itis Costlier.

C.  Available every where. D.  Non pollated atmosphere.
welHe{l 58 claellsdl oell?

A e el Yol: Yl B, B. (Budui Wl 8.

C. uda ua . D actarel ygld aq stell.
Which of the following is not the type of biomass.

A. Dryleaves B. Plastic

C. Biodiesel D. Fat

WU lscull Hiell s usi el «fl?

A yst uiest B.  1qidls

C. aldlne D 2l

Which of the following option is not an oil yielding plant?

A. Babbol B. Kopaiba

C. Coconut D. lojoba

lscdlul AUl flotcdl WSl 58 dell asiuld otell?

A olan B.  sluae

C.  a@adl D. ofaglant

Process of preparing gas by heating biomass at high temperature in steam & air blast is
known as -

A. Aecrobic Process B.  Pyrolysis

C. Hydro gasification D.  Chemical Process
GLllHIUA GAL GWUcALHIol 2ELH sl salloll sellReHl d1RH 53lal Sl
weltetelle(l yslaua ------------ sdall B,

A ARls VA B, yldlflu

C slagl 3 aet Do hflse WA
With which method charcoal is prepared?

A. Anaerobic Process B.  Pyrolysis

C. Hydrolysis D.  Biochemical Process
ARSI 58 Al eotlalclil 2 B2

A ReAls B, yreRlddlu

C. sl D elddlse WA
Which gas is having more % in Biogas

A. Methan gas B. Nitrogen

C. Hydrogen D.  Carbon Dioxide
ool ot Well ay estadl Ygddl A sal B2
A {13t S B.  sugglaget

C. slaglost D.  siolet sillsuss

Which of the following is not an advantage of Biogas?
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uy,

56.

us.

57.

ud.

38.

uc.

59.

60.

50.

61.

51.

A.  Waste micro organisms from B.  Best fuel for cooking.
digester are best fertilizers.
C. Cannot be stored in bottles. D.  Plant efficiency is 60 %

ol Aeotiniell el oll slaLelHl slell uHLAgL o1l Udl?
A slagwedldll ollsddl Q2 B 2l W@ Gl sladll B,
B GriH WldR 8.

C. ollectdi s s3 astdl stedll. P etieel stelatict 60 25t Becll 8l

8.
From where Slurry obtained from biogas plant comes out?
A. Digester B. GasPipe
C. Outlet Tank D. Mixing tank
W izl Geurd acdl el selell oLl 20 82
A sluBeR B. 5l wsu
C. [sia §4 D. afleflo Es
The study which is related with earth quake is known as -------------- .
A. Seismogram B.  Seismograph
C. Seismometer D.  Seismology
SuUal doledl ollotcloll MU -------------- sdal B,
A Raloud B.  Rxlous
C.  Rudle: D Rl
The perpendicular above the Focus on earth surface is known as ---------- .
A. Epicenter B.  Hypo center
C. Earth Center D.  Focus Center
slsoll Gur yeelloll uwdl wR 2udal Mga -------------- sdal B,
A A Ae? B.  sisude:
C. 2w dez D.  dsu Aez
The outer most part of earth is known as --------——--—- .
A. Crust B.  Outer Core
C. Inner Core D. Mantle
yeellotl el wslell Usel ----------- 5& .
A s B o epied
C. uidRs elel D Nee
Creation of hill or formation of cracks in earth is the effect of ------------- .
A. Flood B. Earthquake
C. Cyclone D. Fire
otcll Udde] @Al ag ¥ llotui dlausl usell a --------- ofl wU3 B.
Co araalg D. o
The Total Duration of system of Cyclone is considered to be --------------- days.
A IR B. 1
C. 5 D. 7
cteltRstoll yslaell et dHl oUWl ------------- (2 atell oteu B.
A q/R B q
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62.

5R.

63.

53.

64.

SY¥.

65.

SU.

66.

56.

67.

SI.

C. o D.

Cyclone formation takes place due to----------

A. Heavy Rainfall B.  Striking of two plates
C. Earth’s revolution & Air D. Drought
Pressure difference due to
evaporation.
------------ ol I8 cueuABlstell uBau a &.
A ("LL\E oRYLE B. ol e wastal
C. yacllott udlgHgl el D.  ewia

wlwfletaeta (18 salsil

EOLRML cstald acuell
Tsunami is not taking place because of

A.  Earth quake in ocean B.  Eruption of volcano in ocean
C. High Tide on Full Moon D.  Occurrence of land slide in sea.
Yol o{ldetl 129 UR wlald el

A gdlandl gsu B.  gdlal sauouyulle] sieq
C. yetuell el D gflauni wsse] faucet

Which is the correct statement from below given choices?
A. Tsunami Waves travels like wall. B.  Tsunami is not dangerous.

C. Tsunami takes place due to D.  Tsunami Waves travels slowly.

moon.

ol wlet [Aseu US| 7 [Quist iy 82
A yetlow o lenctoll gs B yottll WcdReus otall
yauel 52 8.

Co yos Al Yol 2@ 8. P yottallow 2ot L1l otcllA yaug

53 .
From the following which is not the method to control the fire
A.  Fire extinguisher B.  Bucket filled with sand
C. Storage of Explosives D. Water
oflActimiell 56 At ol wlctetal W2 o12fl?
A glar Asdloyalz B. 3l etdcd oue el
C. erzallou ol 2oLs Do el
Do not do following during Epidemic
A. Do not boil water & Milk. B.  Take Vaccination
C. To spray the disinfectant D. To wear the mask on face.

Aottt €Mzt oflAell sttt ol sl AlsA.
A g well Gsillal i Ulg B. Qoell udlses 2 @<l

C. ofq sllas galoll Besia D el u? wies uddl.
sdl.

Following is not the reason of occurring drought.

A. Construction of dam. B. Norainfall

C.  Very high rainfall. D.  Tree cutting.

g5 acll 12 o{ldq] S0 wAGR ol
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68.

SC.

69.

70.

90.

A 3ue] olusd B.  qruled] ol laq

Co udl eud aruue D galle ollseet

From the following which is not the part of Disaster Management

A. Preparedness of Disaster B.  Disaster mitigation

C. Risk reduction D. To deny the training.

o{lAstniell sall el Sloie: Aawesdl otefl?

A uedl weell daudl B. uellell sl

C. auuedl e20auet ssluHHl Do qre(ld auuat {2 «tsiz.
yalsl.

From the following in which disaster light switch can be switched on safely?

A.  QGas Leakage B. Fire

C. Drought D.  Entry of Flood waters in rooms

sllAsttriell 58 Uil vt dd csesll elu e 531 asta?

A3y oAdR B.

C. gsia D. uui yretl wellsll yda

What is name of unit which measures intensity of earthquake?

A. Time B. Richter Scale

C. Frequency D. Meter

g5uUell dladl Hudl Yolleoj ot g &2

A asu B.  {lse? ¥

C. glsddll D fe?

ok ok ook ok ook skl sk okosk ok
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